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23 ERERE BRZDE NAFER K 15 1 f i) R BE BENAEIE
1 |FE%A 32.0[sRE A 22.4))I| E4F 100.0| &£ 4F 1.64| W4t 25.0|RBA 100.0
2 |{EATEHRT 27.5| & F0HT 22.0|EA8HF 100.0| %44 1.03| B4 20.0| %4+ 100.0
3 |dbEARA 26.0|4R Pt 19.0[FEARF 100.0f Lz 4¢ 0.84| A4 16.7| RS FA 100.0
4 |EaN 25.0|82 R ET 14.4| Rgest 100.0| AT 0.81|£E At 14.3| E=HH 100.0
5 |t 23.2| R ARmET 14.2| KEH 100.0|A&+84F 0.79| 64+ 1.1|Z W+ 100.0
6 |BHRBRH 1854 11.5| I+ 100.0| AR S AT 0.50|/)N/BHET 83|ELRAr 100.0
7 |FEEARA 17.1| @ 111 |E\BE R 93.0)/N/EHT 0.49|FEA B ET 7.7 | REET 100.0
8 |[EAH 17.0[ K&+ 10.5| R S HT 92.3| KBFA 0.40| K &F+F 11| EEHH 70.0
9 |BAH 15.7 |1 AFEHT 9.3|E#t 90.0| FE I 0.31 |z 7| W#A 50.0
10 |8RSHET 15.5|%4f 9.3| REFET 88.6|/\h T 0.29 /N HEET 5.9| B+t 50.0
11 | TR 15.5|%%H 9.0| Akt 88.6| & LAt 0.24| 5 1LAf 59| 50.0
12 |/NaF 15.1|15RET 8.6 FFri 88.5|E L RHET 0.19|8R LT 3.8|fRHET™ 333
13 |34 14.9| K SHy 8.2| X HET 88.2| KB ™ 0.16|E®HH 32| AT 11.1
14 Il E# 147/ 8.0|F i 88.0[#A AT 0.15| =+ RHEr 31| EIRA 0.0
15 |Bel g T 14701 £+ 7.8|ARPIHF 87.5| REFET 0.12|#AKRH 2.3|/NET 0.0
16 |1E5RET 144t BET 7.7| £ABT 87.5[#mILITH 0.12| REFHAT 2.3|EAEH 0.0
17 | &l 14.1|FIRgET 7.4| 5= 85.7|E9/ 1R 0.11|Ba~ 4R 1.9|/NF REBT 0.0
18 [P+t 13.5|1EAT 72| " )IA 84.6|F 3BT 0.10|# 3B 1.9|8RiL 0.0
19 |BEH 13.2|dbABAA 7.1|/NiERT 83.3| = AFEHT 0.08|frME™ 1.0|87 1R 0.0
20 |mAEET 13.1|FAH AT 82.4|gRMATH 0.07 = AREET 0.9|4&E AFEHT 0.0
21 | REEHR 13.1|#J11ET 6.8|EHH 82.0[EATH 0.04| LA™ 0.6| LA 0.0
22 |tFRET 12.9|8R A 6.5|F R RAT 81.8| LA™ 0.03|#EA T 0.5 AT 0.0
23 |&EaH 12.8| AR EHET 6.5| KEH 81.3[#AAK 0.00[#A A A 0.0|= 8K HARREL
24 |STRIET 12.6[/h %t 6.5 &R LU 80.8| & F0HT 0.00| £ F0HT 0.0|&FnAr mARERL
25 [#)118T 12.2|MAKH 6.4[dLrAARK 80.0[#RB|Af 0.00| R4 0.0|#RHAF nARERL
26 |EmH 120|254 6.3|'= BAT 76.9| 8 HIRET 0.00| &% 3 RET 00| FHRET | #amELL
27 |mE 11.8|&HE 6.3| AT 76.8| B #mAT 0.00| g #mET 0.0| gx#AET HARREL
28 |&RA™ 11.6|=tRAT 61|/ kBl 76.5| EEAT 0.00|Em4F 0.0| E4t HARREL
29 [/NEET 11.6|8R SHT 6.1 /INIF 76.5| KEAF 0.00| K &4 0.0| K&+ HARREL
30 |l 11.6 3R ET 6.1| L@ 76.2|% %™ 0.00|FHH 0.0|ZFHH HARREL
31 |REFAT 11.5[= )11+ 6.1| BB+ 75.0|1ERET 0.00| =R HT 0.0|{E3RET pARREL
32 | RHEH 11.4|m %t 6.1/ AET 75.0| K=8r 0.00{A=8r 0.0| R8T HARREL
33 |KEH 11.4| P54t 5.9|/\eE™ T4.4 N 1A 0.00|/N1I4f 0.0]/M1+F BARREL
34 | ¥R 11.4|/NEET 5.9 |1 AFEET 73911 E4F 0.00|)IIE4F 0.0JIIEXF BARREL
35 |XKEEH 11.0| E@A™T 5.8| )1 1ET 73.3|5t: AAT 0.00|;t AAT 0.0|ts AT HARREL
36 |ARfEH 10.6| RS FA 5.7 | SR AET 72.9| B RE T 0.00 | pa g AT 0.0 Fa gg T HARREL
37 | E#ART 10.5| FaREHET 5.7|F#H 72.0|deEAF 0.00[desa A+ 0.0|dt#BARF | #amEAL
38 |HEK 10.4| T 5.7|804 1R 71.2)F5 K4 0.00|55 A4 0.0| FEAF HARREL
39 |/ HEET 10.4|KETH 5.7 |3k BT 70.8[#2)11BT 0.00 #4187 0.0|#2)1187 BARREL
40 |5RAes 10.2|8a/7 4R 5.6 | RANET 70.7| /At 0.00|/h 84t 0.0|/hakt MAREEARL
41 |=7xET 101 #AJ1IF 5.6 | FE E AT 700(2EH 0.00(& 4+ 00|24 HARREL
42 |fRil 98|REN 5.6|1E AT 68.8| & & 0.00|= 78T 0.0| & 7xEr HARREL
43 | KREHET 9.8| pRAEAS 53|t RET 68.8| 8k BT 0.00| 8 &H1 0.0| 8 & BT pARREL
44 |FFF 9.7| REFET 5.2| R SHET 68.6|3RIm AT 0.00 |33 AT 0.0| Ry BT pARREL
45 |1L/PEr 9.5|E &t 5.2| FIRahET 67.9|= )14 0.00| =114+ 0.0] )14+ pARREL
46 |5+ RET 94| BB 5.1|@ad 67.7|BatuAt 0.00|F#eAt 0.0| %At pARREL
47 |ERAS 9.2|F#H 5.1|FHH 67.6| B 4F 0.00| a8 44 0.0 Fay 85 4% HARREL
48 |Z#mar 8.8|mraAH 5.1 AR 66.7| T #RaHET 0.00| T~ RakEr 00| FMaHET | waRELL
49 |'EER 8.2| % 5.0 FEAS 66.7 | ZsmT 0.00| Z #mfiT 0.0| Z#mET pARREL
50 |FHBH 79| AR 5.0| K&+ 64.3| KETH 0.00| KHT 0.0| XETHI pARREL
51 |RF0ET 17| BAH 5.0[/hA%f 63.6[#3)114f 0.00 #8114+ 0.0 #8114+ HARREL
52 |4 EHEr 7.5| KEedt 49|31 RIET 625|FEH 0.00|REHN 0.0|=EH HARREL
53 | B+ 7.5/ HEET 49|FARF 62.5| FRfEAT 0.00| grs&nS 0.0| BrigE#T HARREL
54 |FEARH 75|54+ 4.8| & 7RET 62.5|rE E AT 0.00| F3 Z 84+ 00|t | sarEsL
55 |&RABET 74| AREA 48| 2 KA 61.9|FEHEAK 0.00|FE#E A+ 0.0|mMAN | #amEsL
56 |KETH 7.1|#eph 478 @A 61.4|+H8mH 0.00| 8 0.0| &1 HARREL
57 |A&R® 7.0| E#ART 47| s g lT 61.1|E®™ 0.00| Ak 0.0| iR HARREL
58 [{EAT 7.0/ A ET 4.5|#)1FF 60.0|BAAF 0.00|BAK 0.0| BAF HARREL
59 |By R 6.9|= BA 44| ERET 59.2| KEEAT 0.00| KAt 0.0| KEe#t HARREL
60 |WiiAt 6.8|@AT 44| 58.1| b4t 0.00| g4t 0.0|584L4+ HARREL
61 |trismr 6.8| ST RIAT 43| AN 57.9|FHpH 0.00[5mspH 0.0|smeh HARREL
62 |#AA&TH 6.6| T AT 4.3\ 4R H 57.1| E#ART 0.00| _E#ART 0.0| E#ARBT pARREL
63 | FaRaEHET 6.6|E=tH 43| KErT 55.9 1L/ BT 0.00( 1L/ PIHT 0.0| 1L/ BT pARREL
64 |FE#HH 6.5|/\g&TH 4.2| BRAER 50.0| = @A 0.00|= @At 0.0|=EA BARREL
65 |E#n 5.6|BHRERN 4.2| s FHET 48.7|EATH 0.00|@A™ 0.0|@EaH BARREL
66 |/N\gET 5.5|Z LAt 4.2|BEE AT 471 | sCRHET 0.00| 37 &I ET 0.0| 3z &7 MRAFRLL
67 |=EHN 5.4| Fah IRIEE %5 A4 4| TR 0.00| &4t 0.0| M4+ pARREL
68 |£HH 5.3|EA 40|54 44 4|nsETH 0.00|/hnegmH 0.0|/INgg pARREL
69 | LB 51| HET 3.5| B IRET 43.8|F IR R 0.00| B iRIR R4 00|BFRIBRF| swiRABL
70 |FHm® 4.8 LAt 3.3| KETH 41.9|Feh 0.00|Fa 0.0| Fehr pARREL
71 | T 46|B B+ 3.2|FEtkAt 36.4|#E4X AAT 0.00|#4< FH &7 00| HET | #aRmEAL
72 |EBH 4.1|8RLTH 3.1 | ARFEA 333|BEH 0.00{ B B4t 000|854 HARREL
73 |AAm 38|FAMN 27|15 50T 26.8|FAA 0.00{F A4 0.0| B AH pARREL
74 | & HFIRET 38| EAHN 26| E&EAT 250 EAK 0.00| &4 0.0| B+t HARREL
75 | KEER R ES 23| HBK 0.0| XEEH 0.00| }EEH 0.0| XEEXS MrRERL
EHE 6.5 [EHE 6.0 |[EFE 715 |EHE 0.08|EHE 14 |EFE 444
HAfE 6.2% LU | A 90%L E[ = 0.16%0t [21m 2.6%B4 L
X1 HHETHXEHRERET AT ELLIGE
X2 EEMBOHMNARDEEOHYAICET IRARIDNARBEEDHYAIZONTI(HM5E6A)

BAELF LTV HEINEFERLTND,
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